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QUESTION 1
Refer to the exhibit

The following test cases need to be run, but time is limited, and it is possible that not all will be completed before the
end of the test window

# | Description Priority Note
a Re-test defect no 52 Low Re-test
b | Ability to amend transaction type High
c Re-test defectno 26 High Re-test
d Run regression test script Medium | Regression
e | Print monthly sales figures Medium
f Add special invoice to previous month | Low
g Reprint selected previous sales High Must be run
figures after item e
h | Account administrator able to amend | Low
any previous month's sales figures
i Print year-to-date figures Medium

The first activity is to run any re-tests, followed by the regression test script. Users have supplied their priority order to
tests. Which of the following gives an appropriate test execution schedule, taking account of the prioritisation and other
constraints? [K3]

A.b,c,g,d, e i afh

B.a,c,d, b,g,eifh

C.c,a,d b,e g,ih,f

D.d,c,a,e b, g,ifh

Correct Answer: C

QUESTION 2
When an organization considers the use of testing tools, they should:

A. Use atool in order to help define a good test process because the tool will force process repeatability and therefore
enforce good test process.

B. Always start by bringing in automated test execution tools as these tools have the greatest return on investment and
therefore should be introduced first.

C. Perform analysis of the test process and then assess whether it can be supported through the introduction of tool
support.

D. Allow the developers to select the testing tools because tools are technical and developers have the appropriate
skills to advise on test tool selection and configuration.
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Correct Answer: C

QUESTION 3

Which of the following describes structure-based (white-box) test case design techniques?
A. Test cases are derived systematically from models of the system.

B. Test cases are derived systematically from the tester\\'s experience.

C. Test cases are derived systematically from the delivered code.

D. Test cases are derived from the developers\\' experience.

Correct Answer: C

QUESTION 4

Which of the following is NOT an example of a typical risk-based testing activity?

A. The evaluation of a risk-management tools to decide which tool to use for future projects

B. The focus of testing is shifted to an area in the system where tests find with more defects than expected

C. Brainstorming sessions are held with a wide variety of stakeholders to identify possible failures in the system
D. Tests are prioritized to ensure that those associated with critical parts of the system are executed earlier

Correct Answer: C

QUESTION 5

Which of the following would typically be identified using static analysis by tools? [K1]
A. Spelling mistake on an error message

B. A potential infinite loop

C. Memory leakage

D. A variable set to the wrong value

Correct Answer: B
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